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2. Attempt any two from the remaining three questions
Q1. | Attempt all M| BT | CO
Calculate the mesh currents in the given circuit.
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b) Derive average and RMS values of an alternating voltage in terms of maximum value. 51 1 3

A balanced load of phase impedance 100Q and power factor of 0.5(lag) is connected in
¢} [(delta)to a 415V, 3-phase supply. Calculate Phase voltage, Line voltage, Phase current, line | 5 | 4 5
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current and power consumed. \bon = KW L) sV v~ loe Iy, - b;mw lL=7719

d) Draw a series R-L-C circuit and derive the equation of Resonant Frequency. P - 2 s¢o J\s 1 4

Q.2. | Attempt all

Using Thevenin's Theorem, compute the current through 1 ohm resistor.
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b) For a three phase star connection prove that line voltage is V3 times phase voltage. 4] 1 5
c) Two impedances A and B are connected in series to an alternating voltage, V=23020
Volts. The impedance of A is 25+j10 and B is 35-j10. Calculate the power factor msm.ﬁoﬁm_ 6! 4 4
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a Attempt all

Compute the equivalent resistance between A and B.
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Hz, 1-¢ AC Supply. &.rNQ.@& L: 3y.545 4
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Find current flowing through 100 nommm.ﬂg by Nodal Analysis.
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Three identical coils having reactance of |

582 and resistance of 100 are connected in ‘tap)
: Vi

across a 400V three phase line. Calculate: 543 Ve leo Vor = 2309
(i) Line current and phase current.  Zph-1§-034 los Don: )2 -1
ii) Reading of each Wattmeter connected to neasure power. \, - 4.593k iy

Attempt all

Vo 2 329.4 ¢

20

Find the current flowing through 4Q resistors by Superposition theorem.
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b)

An alternating voltage is represented by v=
Voltage (ii) RMS value (iii)frequency and

VYOO
141.4sin(377t+0)Volts. Find ( i) Max

(iv)Time period. T-001
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A circuit hag L=

0.2H and inductive

variable mdﬂ _.—O:OV\_

no~,>uu_< basic concepts to analyse pD.c Circuits,
no~.>vu_< various D.C network

CO4-Evaluate and analyse single phase A.C cCircuits,
CO5-Evaluate angd analyse three phase A.C Circuits,
CO6-Understang the constructj
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6 Creating,
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Npg = 5 x2. 779410 = 0

<bb..n \w.M\W\.\O 3-6 =
-6 Jw /e
=32 g5 V

\<ﬂt - 2.55\V [ w,m\m\ﬂ\\ ﬁ

L

) 3¢

4
\!\)\qzu 3.6 1 p\




o 30

e Jvm»l.oxwwm\_n‘o

v

_ 60 2

\u \ - WAQ S &v







}
0< MN\:
A
B
-
2.0
\eﬁ\\ﬁm

-

e




\/ Y. 52\ .
\.\ \_ < - r. ;
——— , = oy
\Gb\ B W.w\mw,hl@
A\<b



Qw&

Vpr, = 2309V
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